Negatives & All Past Tenses
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The Negative ‘'(e)ko' is, as we covered with Past 2, is always going toN
after the Person Marker. For Pasts 2, 4, and 5, the ‘0’ in '(e)ko’ drops. For
Past 3, you keep the ‘0.
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N BEMLUN:
Something to note: The reason that the negative in Past 5 is highlighted a different

color is because the 'v'in 'vtés' is elongated in the negative, sounding more like
"Hompakates” and "Hompetskekatés” even though they are written with 'v's
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Hompakvnts Hompakekvnts
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Negatives & Past 1

\___ ., J  __J 1 |\~

To show negatives in Past 1, you have to use the imperfect form with the
negative marker. There is one way to form it for Action Verbs and one way
to form it for Stative Verbs

ACTION VERBS
1.Take the verb 1.Hompetv Hompvkis I didn't eat
o 2.Drop the 'etV' 2.Homp _é Hompetskekis You didn't eat
% 3.Add the Person Marker ~ 3.Hompetske e Hompekis He/She /It didn't eat
o : o
4.Add the Negative '(e)ko’ 4.Hompetskeko § Hompékis We didn't eat
5.Drop the 'o' 5.Hompetskek Hompatskekis Yall didn't eat
6.Add 'is' 6.Hompetskekis Hompvkekis ey g i
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"TOS’ AUXILIARY FORM: Adding 'towis’
1.Take the verb 1.Penkvle Cvpenkvleko towis I was scared
” 2.Add the Patient Marker 2.Cvpenkvle é Cepenkvleko towis You were scared
to the font of the verb 3. Not needed k¥ Penkvleko towis  He/She/It was scared
il 3.Decide if 'vk' needs to be aC Ulek é Pupenkvieko towis We were scared
added for multiple - SVPENKVIEKO ™ gy

Cepenkvivkeko towis  Yal were scared

4. Add the negative '(e)ko' 5.Cvpenkvleko
d () 5 Penkvivkeko towis They were scared

5.Add towis towis
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The reason Past I's negative is in the imperfect, is because
things that "didn't” happen within the last 24 hours are not
considered complete.
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Practice

Past 1
| wasn't mad She didn't cry
We didn't make tea You didn't scream
Yall didn't cook We weren't sad
You didn't stand | didn't clean
We didn't work Yall didn't eat cookies
She didn't play | wasn't mad
He didn't laugh You weren't weak
Yall didn't sleep (2) You didn't call
| didn't draw We didn't buy that
They didn't pay We didn't run (2)
| listened You weren't tired

It didn't fly Yall didn't drink coffee




